
=LPDB����

*UXSD�5R]NãDG���8&.8�1$�/����(*��7\J������

�������������7\J�����

6SHF��QDXF]��(PLVMD
JáRVX� PJU�.XGUD�0DUHN�
=%������ ���)$�/����/��
1-$�����)3�/����:�����
)�/����1)3��8&.8�1$�
/����(*��8&.8�1$�/�
���(*�/�

JU���]JRGQLH�]�]DSLVDPL
Z�8626

�������������7\J�����

6SHF��QDXF]��(PLVMD
JáRVX� GU�KDE�
-H]LRURZVNL�3U]HP\VáDZ�
=%������ ���)$�/����/��
1-$�����)*�/����:�����
)3�/����:�����+,6�/����
1$��8&.8�1$�/����(*�
8&.8�1$�/����(*�/�

JU���]JRGQLH�]�]DSLVDPL
Z�8626

������
������
7\G]���

6SHF�
QDXF]�
(PLVMD
JáRVX� GU
KDE�
-H]LRURZVN
L
3U]HP\VáD
Z� =%�
����� ���
)$�/����/��
1-$�����
)*�/����
:�����)3�
/����:�����
+,6�/����
1$��8&.8�
1$�/����
(*��8&.8�
1$�/����
(*�/�

JU��
]JRGQLH�]
]DSLVDPL�Z
8626

�������������7\J�����

6SHF��QDXF]��(PLVMD
JáRVX� GU�KDE�
-H]LRURZVNL�3U]HP\VáDZ�
=%������ ���&�/����&1
&�����(0�/��������(3�/�
����8&.8�1$�/����(*�
8&.8�1$�/����(*�/�

JU���]JRGQLH�]�]DSLVDPL
Z�8626

������
������
7\G]��

6SHF�
QDXF]�
(PLVMD
JáRVX� PJU
.XGUD
0DUHN� =%�
����� ���
)$�/����/��
1-$�����
)3�/����
:�����)�/�
���1)3�
8&.8�1$�
/����(*�
8&.8�1$�
/����(*�
/�

JU��
]JRGQLH�]
]DSLVDPL�Z
8626

������
������
7\G]���

6SHF�
QDXF]�
(PLVMD
JáRVX� GU
KDE�
-H]LRURZVN
L
3U]HP\VáD
Z� =%�
����� ���&�
/����&1
&�����(0�
/��������
(3�/����
8&.8�1$�
/����(*�
8&.8�1$�
/����(*�
/�

JU��
]JRGQLH�]
]DSLVDPL�Z
8626

�������������7\G]��

6SHF��QDXF]��(PLVMD
JáRVX� GU�/DQJLHU
&HF\OLD� =%������ ���)$�
/����/��1-$�����)3�/�
���:��8&.8�1$�/����
(*��8&.8�1$�/����(*�
/�

�������������7\J�����

6SHF��QDXF]��(PLVMD
JáRVX� GU�/DQJLHU
&HF\OLD� :����� ���)$�/�
���/��1-$�����)3�/����
:��8&.8�1$�/����(*�
8&.8�1$�/����(*�/�

JU���]JRGQLH�]�]DSLVDPL
Z�8626

������
������
7\G]���

6SHF�
QDXF]�
(PLVMD
JáRVX� GU
/DQJLHU
&HF\OLD� :
����� ���
)$�/����/��
1-$�����
)3�/����
:��8&.8�
1$�/����
(*��8&.8�
1$�/����
(*�/�

JU��
]JRGQLH�]
]DSLVDPL�Z
8626

SR
QL

HG
]L

Dã
HN

:
W

ģ
U

�������������7\J�������

6SHF��QDXF]��(PLVMD
JáRVX� 1RZRU]\Q�
6áDZLĔVND�$QQD� =%�
����� ���(0�/��������(3�
/�����8&.8�1$�/����
(*��8&.8�1$�/����(*�
/�

JU���]JRGQLH�]�]DSLVDPL
Z�8626

�������������7\J������
������

6SHF��QDXF]��(PLVMD
JáRVX� 1RZRU]\Q�
6áDZLĔVND�$QQD� =%�
����� ���:)�/����:�
8&.8�1$�/����(*�
8&.8�1$�/����(*�/�

JU����]JRGQLH�]�]DSLVDPL
Z�8626

�������������7\J�������
��

6SHF��QDXF]��(PLVMD
JáRVX� 1RZRU]\Q�
6áDZLĔVND�$QQD� =%�
����� ���(0�/��������(3�
/�����8&.8�1$�/����
(*��8&.8�1$�/����(*�
/�

JU���]JRGQLH�]�]DSLVDPL
Z�XVRV

F]
Z

DU
WH

N

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

*UXSD�5R]NãDG���8&.8�1$�/����(*��7\J������

������
������
7\G]���

6SHF�
QDXF]�
(PLVMD
JáRVX� 1RZ
RU]\Q�
6áDZLĔVND
$QQD� =%�
����� ���
:)�/����
:��8&.8�
1$�/����
(*��8&.8�
1$�/����
(*�/�

JU��
]JRGQLH�]
]DSLVDPL�Z
8626

������
������
7\G]���

6SHF�
QDXF]�
(PLVMD
JáRVX� GU
/DQJLHU
&HF\OLD�
:����� �
��:)�/�
���:�
8&.8�
1$�/����
(*�
8&.8�
1$�/����
(*�/�

JU��
]JRGQLH�]
]DSLVDPL
Z�8626

������
������
7\G]���

6SHF�
QDXF]�
(PLVMD
JáRVX� 1RZ
RU]\Q�
6áDZLĔVND
$QQD� =%�
����� ���
(0�/����
���(3�/�
����8&.8�
1$�/����
(*��8&.8�
1$�/����
(*�/�

JU��
]JRGQLH�]
]DSLVDPL�Z
8626

�������������7\G]��

6SHF��QDXF]��(PLVMD
JáRVX� GU�/DQJLHU
&HF\OLD� =%������ ���:)�
/����:��8&.8�1$�/����
(*��8&.8�1$�/����(*�
/�

�������������7\J������
��

6SHF��QDXF]��(PLVMD
JáRVX� GU�/DQJLHU
&HF\OLD� :����� ���:)�
/����:��8&.8�1$�/����
(*��8&.8�1$�/����(*�
/�

JU���]JRGQLH�]�]DSLVDPL
Z�8626

F]
Z

DU
WH

N
3

W
6

R
1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


